Introduction to Engineering Design Unit 2 Practice Test

Name:_________________
I.  Define the following (You can use your notes)
a. Construction Line 
________________________________________________
b. Object Lines

________________________________________________
c. Hidden Line

________________________________________________
d. Center Line

________________________________________________
e. Section Line

________________________________________________
f. Short Break Line
________________________________________________
g. Dimension Line

________________________________________________
h. Extension Line

________________________________________________
i. Long Break Line

________________________________________________
j. Leader Line

________________________________________________
II. Short Answer

a. Put the following lines in order of precedence, highest precedence to lowest precedence: Cutting Planes, Hidden Lines, Object Lines, Center Lines 
b. How do you pick the front view for a drawing?

c. What is the difference between a Cavalier Oblique drawing and a Cabinet Oblique drawing?

III. Sketching:  The following three pictures are of the same object where each cube is 0.5” x 0.5” x 0.5”.  Select the best front view for each image.
Orthographic Projection (Assume each grid is 1/8” so 4 grids = 0.5”)
[image: image1.png]AV A A AN AY A AV AVAVAVAVAVAVAVAYAYAY
/AVAVAVAVAVAVAVAVAVAVAVAVAVAVAVAVAVA'|
)VAVAVAVAVAVAVAVAVAVAVAVAVAVAVAVAVAY
JAVAVAVAVAVAVAVAVAVAVAVAVAVAVAVAVAVA
\AVAVAVAVAVAVAVAVAVAVAYAVAVAVAVAVA
JAVAVAVAVAVAVAVAVAVAVAVAVAVAVAVAVAVA
IAVAVAVAVAVAVAVAVAVAVAVAVAVAVAVAVAY
IAVAVAVAVAVAVAVAVAVAVAVAVAVAVAVAVAVA
\AVAVAVAVAVAVAY AVAVAVAVAVAVAVAVAVAV
IAVAVAVAVAVAVAVAVAVAVAVAVAVAVAVAVAVA
|VAVAYAVAVAVAVAVAVAVAVAV AVAVAVAVAVAY
AV AVAVAVAVAVAVAVAVAVAVAVAY AVAVAVAVA
)VAYAVAVAVAVAVAVAVAVAVAVAVAVAVAVAVAY
AVAVAVAVAVAVAVAVAVAVAVAVAVAVAVAVAVA|
IVAVAYAVAVAVAVAVAVAVAVAVAVAVAVAVAVAY
IAVAVAVAVAVAVAVAVAVAVAVAVAVAVAVAVAVA
NAVAVAVAVAVAVAVAVAVAVAVAVAVAVAVAVAY
IAVAVAVAVAVAVAVAVAVAVAVAVAVAVAVAVAVA
\VAYAVAVAVAVAVAVAVAVAVAVAVAVAVAVAVA
JAVAVAVAVAVAVAVAVAVAVAVAVAVAVAVAVAVA
\VAVAVAVAVAVAVAVAVAVAVAVAVAVAVAVAVAY




[image: image8.png]



Isometric Projection (Use one grid to represent the length of the side of a single cube)
Assumer each cube is 0.5” x 0.5” x 0.5”. Each grid is 0.5”
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Complete a Cavalier Oblique Drawing of the following: Each cube is 0.5” x 0.5” x 0.5”. Each grid is 1/8” = 0.125” so 4 grids = 0.5”  
[image: image7.png]
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Complete a One-point perspective for the given figure. Each cube 0.5” x 0.5” x 0.5”. Each grid is 1/8” = 0.125” so 4 grids = 0.5”  [image: image4.png]AV A A AN AY A AV AVAVAVAVAVAVAVAYAYAY
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Complete a Two-point perspective for the given figure. Each cube is 0.5” x 0.5” x 0.5”. Each grid is 1/8” = 0.125” so 4 grids = 0.5”  
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